
 

 

# ===================================================== 

> table(SYN,TASTATUR) 

       

    Normalt  Kontrast  Bakbelyst 

 Svaksynt       10    38    30 

 Normalt syn    120   110   150 

 

 

# ===================================================== 

> CHISQ<-chisq.test(oppg3) 

> CHISQ 

 Pearson's Chi-squared test 

 

data:  oppg3 

X-squared = 15.868, df = 2, p-value = 0.0003584 

 

 

 

# ===================================================== 

> CHISQ$stdres 

               

Svaksynt    -3.347032  3.400788 -0.1667079 

Normalt syn  3.347032 -3.400788  0.1667079 
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